PROVISIONAL ANSWER KEY

Inspector of Motor Vehicles, Class II, Advt No. 102/2016-17(ATX-MECH-AUTO)
Preliminary Test on 26-03-2017

Subeject Que : 201 to 300

Publish Date : 31-03-2017

Last Date to send suggestion(s) :07-04-2017

Note: Candidate must ensure the compliance to send all suggestion in the given format
with reference to this paper with provisional answer key only.

Read this paragraph carefully. Answer question no. 201 to 205 based
on this para.

Most rules, written or unwritten, place a great emphasis on the
greater good of the community, that is your family, neighbours, friends
or strangers. If everyone were to do whatever they felt like and just
looked out for themselves, we would soon have chaos. If you have
ever driven a car in a big city in India, you will have witnessed this
chaos. Someone decides to have a chat with a shopkeeper, so they
stop their car in the middle of the road. Someone else wants to buy
something at a stall by the roadside and simply leaves their car parked
in the road while they spend a good hour haggling over the price of
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201.

202.

203.

204.

the goods. In the meantime, horns are hooting and no one else can
get past. The angry shouting or hooting may raise a dismissive wave
of the hand from the person blocking the road, but certainly does not
speed up clearing a way through.

The root cause of traffic indiscipline is:

(A) Lack of proper traffic-sense

(B) Most of the rules are unwritten

(C) People think that only they are important and they can act the way
they like.

(D) No education for behaving on the roads.

What is meant by : ‘No one else can get past’.

(A) The traffic is blocked.

(B) It is the time when the horns keep on blowing but no one seems
interested.

(C) Community people cannot get ideas about their past.

(D) Every one is prohibited to do anything.

Tick mark the nearest meaning of the word — ‘dismissive’ in this
paragraph.

(A) confusing (B) refusing

(C) delaying (D) distracting

What is the general purpose of rules?

(A) They are, by nature, always good for the society.

(B) In context of ‘rules’ the family includes community, neighbours,
strangers or friends.

(C) Rules aim at giving a strong emphasis on the community.

(D) They create a moral obligation on people and lead them to a better
society.

ATX-Mech-A | [31] [ P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


205. What type of traffic disorders are experienced by a car-driver in urban
areas?
(1) a vehicle is stopped in the middle of a road.
(i1) negotiations over the price of some goods.
(i11) a lot of honking.
(iv) The road-blocker shows no hurry to move ahead.
(A) 1, ii, iii (B) 1, iii, iv
(O) 1i, iii, iv (D) 1, ii, iv

206. Which one is not correct?
(A) If he comes, tell him to finish the job.
(B) If and when he comes, tell him to finish the job.
(C) When he comes, tell him to finish the job.
(D) Tell him to finish the job when he comes.

207. Choose the sentence with correct verb form.
(A) We shall arise tomorrow at seven O’clock.
(B) Our children were rised in Africa.
(C) Workers rose a beam with the crane.
(D) The sun was raising slowly in the east.

208. Fill in the blank.

 Last night T ............. a pleasant dream.
(A) might see (B) could see
(C) saw (D) have seen

209. Choose the correct option to replace the underlined words:
* The poor boy longed for oranges.
(A) wanted (B) liked
(C) searched (D) stared at

210. When are you expected to be vigorous?
(Tick mark the correct answer)
(A) While sleeping (B) When you are hungry
(C) While doing exercise (D) When you are waiting
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211.

212.

213.

214.

215.

216.

Find out the incorrect sentence.

(A) It is you who are to change.

(B) It was they who were to do the work.
(C) It is I who am to make the call.

(D) It is T who is to receive you.

Find out the incorrect sentence.

(A) If T were home, I should be relaxing.

(B) Look, it is cloudy, it might rain now.

(C) Everyday when I arrived, he would be at his desk.
(D) If he comes, should I tell him to wait?

Find out the passive voice construction for this sentence.
*  Who did this?

(A) This was to be done by whom?

(B) Who was this done by?

(C) By whom was this done?

(D) Did this was done by whom?

I am not one of those who believe everything ............... hear.
[Fill in the blank.]

(A) we (B) they

(C) one (D) I

Tick mark the incorrect sentence.

(A) Fifty thousand rupees is a large sum.

(B) The United States has a big navy.

(C) The team are divided on one minor point.
(D) Ten kilometers are a long distance to walk.

Tick mark the correct sentence.

(A) Sorry, only few is left unsold, from all the books I have.
(B) Now only very few is left of all the books I had.

(C) Of all the books only few are left.

(D) All T have left are a few books.
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217.

218.

219.

220.

221.

222.

223.

Complete the sentence.

“I don’t want to ............... my wallet.”
(A) loose (B) lose
(C) loss (D) lost

Complete the sentence.

“If we can work ............... , we can finish it successfully”.
(A) slow and steady (B) slowly and steady
(C) slowly and steadily (D) slow and steadily

Tick mark the correct construction.

(A) Did you bring the car back yet?

(B) Do you have brought the car back yet?
(C) Had you brought the car back yet?

(D) Have you brought the car back yet?

Find out the series in which one word is a misfit.
(A) swift, rapid, hasty (B) intense, keen, acute
(C) numb, agile, alert (D) frantic, raging, wild

Which of the following model auxiliary expresses a moral obligation
or desirability?

(A) dare to (B) ought to

(C) have to (D) need to

Tick mark the sentence in which the conjunction is used properly.

(A) He performed well in the exams though he failed to get good
marks.

(B) I can come with you unless you agree to share the fare.

(C) I have watched this film five times until I enjoyed watching it.

(D) T haven’t seen you since the time you left the school.

Choose the correct option to replace the underlined word.

» The zookeeper woke early although he wanted to see the female
zebra giving birth.

(A) due to (B) as a result of

(C) however (D) because
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224.

225.

226.

227.

228.

229.

230.

Fill in the blank.

* At this age he is tired ............... his life.
(A) with (B) of
(C) from (D) off

“She brought up the orphan as if they were of her own.”
Which part of this sentence is incorrect?

(A) brought up (B) as if

(C) they were (D) of her own

In this sentence which of the part is/parts are incorrect.
“Some of the roof was torn away from the wall.”

(1) some of the roof

(11) was torn

(111) away from

(iv) the wall

(A) i (B) ii
(©) 1, 111, 1v (D) None of above

Which one is incorrect?

(A) sitting on the gate, a scorpion stung him.

(B) sitting on the gate, he was sturg by a scorpion.

(C) while he was sitting on the gate, a scorpion stung him.
(D) When he stepped on the gate, a scorpion stung him.

Mr. John seems ............... his stay at Somnath. [select proper verb-form]
(A) be enjoying (B) to have enjoyed
(C) of enjoy (D) to has enjoyed

Complete the sentence selecting the proper pair of verbs.

“I never ............... hurt anybody, and never ............... ”?
(A) do, did (B) will, had
(C) have, will (D) shall, should

Which of the following sentences has correct use of prepositions?
(A) I was angry at my results so I spoke with the teacher.

(B) T was angry with my results so I spoke to the teacher.

(C) I was angry for my results so I spoke at the teacher.

(D) I was angry on my result so I spoke out for the teacher.
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231. Which of the following one-word substitution is not correct?
(A) Moving from one place to another: migration
(B) That which cannot be read: illegible
(C) Having an evil reputation: notorious
(D) Habit of excessive eating: backbite

232. Tick mark the correct one.
(A) We have less staff members than we had last year.
(B) We have fewer staff members than we had last year.
(C) We have lesser staff members, than we have last year.
(D) A very few staff members we had this year than we have last year.

233. “Indolent” is the word for —
(A) A person who is extremely lazy.
(B) A person who does not believe in God.
(C) A person who workships idols.
(D) The one who is a partner in a crime.

234. Which series of articles will fit in this sentence. [X-means ‘no article’]

“We need ............... €8, cevrrreeennnnn onion

and .............. oil to make ............... single omelette.”
(A) an, an, x, X (B) an, x, an, a
(©) x, x, an, x (D) an, an, x, a

235. Find out the incorrect part in this sentence:
“Our teacher chose Ketan and myself for this task.”
(A) Our teacher (B) Chose Ketan
(C) and myself (D) for this task

236. Find out the correct sentence.
(A) We are already for the dance.
(B) Already we are for the dance.
(C) We are all ready for the dance.
(D) For the dance, all readily we have came.

237. Which of the following is not a pair of homophones?
(A) knife-wife (B) knew-new
(C) queue-cue (D) cereal-serial
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238.

239.

240.

241.

242.

243.

244.

Which word is correctly spelled?
(A) distamper (B) deliberate
(C) devide (D) diseace

Which series of articles will fit in this sentence. [x-means ‘no article’]

“Many ............... times, ............... one man committee makes enquiry of
............... administrative officials in ............... governmental department.”
(A) x, an, x, the (B) a, a, the, a
(C) x, a, the, x (D) a, x, the, x

Complete the sentence.

“He doesn’t want to use ............... of these words.”
(A) none (B) neither
(C) any (D) nothing

Complete the sentence choosing the correct option:

“Look, here ............... my brother and his only friend.”
(A) come (B) comes
(C) 1s coming (D) has come

* He said to me,“Are you going with me now?”

Which of the following is the correct indirect narration of this sentence?
(A) He told me for going with him at that time.

(B) He said to me where was I going.

(C) He inquired about my going with him then.

(D) He asked me if I was going with him then.

Tick mark the antonym of ‘strange’.
(A) animate (B) amicable
(C) alien (D) ardent

“Many people live from hand to mouth in this country.”
What is the meaning of the idiom used in this sentence?
(A) in poverty (B) earn from labour
(C) against one another (D) away from native land
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245. Complete the sentence.

“If the lion is annoyed, he is ............... to become angry.”
(A) liable (B) likely
(C) ready (D) rapid

246. Tick mark the sentence with a correct question tag.
(A) You won’t come, would you?
(B) I am late today, am I not?
(C) You need more practice, don’t you?
(D) You are not an officer, aren’t you?

247. They ............... the offer as soon as it was made. [Fill in the blanks]
(A) assept (B) except
(C) expected (D) accepted

248. Which of the following is not an adjective?
(A) much (B) my
(C) once (D) such

249. “The teacher said that he might be allowed to go home.”
This is the indirect narration of —
(A) The teacher said to me, “I may allow you to go home.”
(B) The teacher said, “Let him go home.”
(C) The teacher proposed, “Allow me to go home.”
(D) “You may be allowed to go home,” said the teacher.

250. “Our pain ............... pleasure ............... largely a creation ............... our
Complete the sentence using appropriate series:

(A) and, is, in (B) and, are, in
(C) or, is, of (D) or, are, of
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URALEAL BUAIL UR SIS 251 Ul 255 <L Gl zuul.

Aseaedl igx  sUEl 2 Q2L o0adldl, OdIviiKl 2125194l
AAARIA et Yl uciugaldl v ovdidl (Ao sRaedl sraieieil
idludad diuaimi sudl 9. sgldl @0 dsu uidlu sHaRlbl oa
quuzdidl Somzigudlaoll Udl tud 9. vald udld vid A uidld o
o0l qIuRdld Gld 8. Ud Ui UMY, R 5 dlMdld 4R ool od
QURAHL « 204 dl d SPEL id udAdl [A52 Usl U 9. wid od
Hidd 2fBsRIAL sleulds cual 22 Rl AR uldlusiluid Hedioa
dl2] org dl ddl uRguMAzu Hidd 2ARBsRAL dRdl 24 lldid oy
WAL sl 25 A5 9. W2 oy UidlusHlbid uRAl AsEsL 2,
diod, dloyoll vid dHuMR Guulpl #dl wildari 9. dlRellkqr [@adsdl »u
oletd uidlusill ond o dcadidl 9. Hida UASR YAl v AKES
Qoroll GUUPl d oledd a2 Hidd w[ASR ePidl Yeu v wild widell
el 9. d GUM A U dd fdld ERSL U Alddl 42 /g vid
oreq, [Ase uldlasiloll HIZ 8. HIU dtbl d Vg YAbsor gl
9l dulizl lcHAQAd i UHAUAYL Uldldl U2 digdldl 9. M,
gl gdldl Hiel ussik uldld Slaaidl €.

251, o0l QuRAldl 9040 ulf@n W or 8 qdl quel -
(A) Uldledl 2Adledl HUARAL 67 GUAURL Sl oAl

NN

(B) Hidd-2l[AsRAl {21 2ioldl s1culds o 918l el oA

(C) A d Ml SRUEI-MAYUL dl 0409dl 67 AL,
(D) UMY, 92 & didigl dRd o0l « Audg oA,

252, Hidd AR clld 4 2 d He dildudad Aldl 9y vad s ollolddl
ALl 97
(A) dRdl 24 llsdid, 281
(B) Al i QY U BLcHAAY
(C) il »d Ul G0l 2dl « edl.
(D) $KIEL i URll HAUlEL
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253, ‘dlRelldl [Qds’ »led g?
(A) dldlei edl 2nasd Hedl [dqudl
(B) Yeuisd sl Glgurca v
(©) sl wifAsk] d 2dl ueiqEl add ddl Alsy vag
(D) 56¢ ooqddl Auid disl Ul [Adsyel uack s2aldl ALl

254. Uil@udaAd 585 ovdlegikl Auami 2udl «yl?
(A) AdURIA ditld, usdld siZui ususael
(B) Ui ddl vl [RilAa sl
(C) SKIEIAL GOl SRellRel UL HIAML A0 524l
(D) sevildizlid ddzalud 54l

255. uil@udl s

97

(A) €R¢L W2 Addl HI2 UsElA (HEIHRL) 4 Vol Herd 9,

(B) <2« QL 04 U 2UH AL €ld 69,

(C) o/l UQl uHdldd oA dl akd @R s 4 2,

N

(D) Ulcdl sRIHL visAddl oy R E 9.

1261 WR AL A2 ovd v oveq (4527 Al HI2 29Uy,

256. 5% 0ASldl ot Aoel visollondl [A3esiell «2l?
(A) A4%d - WM (B) YUl - cdlsd
(C) [Ages - AU (D) M2 - 52

257. 55 Al ol wogl uHiAd] «4l?
(A) tald, g, @iy (B) G143, «2izigl, WS
(C) GRal, ¢, ool (D) Brla, 3%, =sHll«

258. <dlRmigl 55 odcel wigl 97
(A) s (B) cluald
(C) [uyy (D) GI&
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260.

261.

262.

263.

264.

265.

AogAYe HI2 w5 ot elddl 59 oddl =l «dl?

(A) vivt 2R0E]l vAd, A €M dd : 303

(B) Uiciedl #2691 2quR 2UAQL ReAR: 2R [A¢K]

(C) votsy s Rl 214 eM2sigl dR1adR: Udgs

(D) A 2AAM[AA €l dd: Ul §YHAA

‘oRloiR] srell, Al Rl widl vl caladl 3EudpL sul 97
(A) AL {59l (B) WRVIHL Wl euqdl

(C) ex [Mg1adl (D) oustl otigdl

DA 9ul dld w2 s’ - widl il gdladl 3Eudil sul 97
(A) €3lHl ¢1d enddl (B) a42%uld 5dl

(C) Had, <M s uy (D) ™Rl qledl

L Ulsail sul el el 97

6 Yd 8 oRgHl Wl ¢ ¢, Al ed udl ovd wcla or 2d.
(A) aalaast (B) Helsledl

(©) [wRel (D) 23U

‘Gudsd’ wogdl sl AU WAL H7?
(A) GWR + ¥Ysd (B) GUR + Gsd
(C) Gu: + ¥sd (D) GU + ¥Ysd

sal g0 ‘U’ Al duiEl «4l?
(A) Hle2 (B) [%a
(C) Iy (D) [a4u

dl2dl Sl sul goe ‘Aied’ Al uHiendl «gl?
(A) YudHL (B) Qg
(C) ARAL (D) wdldal
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269.

270.

271.

Al Usl s Aol viqRARAl a4 97
(A) [Angs (B) 2=zl
(C) ol (D) ellamr

ARl odgl odldld did [asey ude s3i.
YOEUHE uis gog

(D 698 g5 slaaR: (@) a

(2) clael usdld uRrald sRuR: (R) w2

() wludi cussividl otqdd elBuRr: () 224
(a) saa

(A) 1], 2-9, 3-7 (B) 1-3, 2-9, 3-a

(C) 1}, 2-d, 3-9 (D) 1-d, 2-%, 3-7

3eudiol WAL Adl Al Al UGl sul v oltoludl «dl?
(A) Swaidl €lg (B) “IHUIML 439

N

(C) ofloadl 28l Uididl Y2 ddl (D) 514 s:dl

AlAdl AL AL 2SR w97

ydeddl 2 stusidlel 20l oS dal uldidl Qs g oA, s
WHld ulam Bl dzs Qi |l <L oaiedn .

(A) ALARIMGL (B) dlsrzd[d,

(C) s (D) uHs

AR 205 24 ddl vlov galad sy odss W «dl?
(A) 2482 -Hl dcyzy (B) AM1-[s)
(C) grsla-viepdleiy (D) AR -sws

UHlar Ll a9 am?
(A) 44 + S (B) u¥ + &l
€) AR + au (D) 44 + &
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272.

273.

274.

275.

276.

2717.

dAlRmigl sar gogl Al dl UMl 97?

() Was (i) alat

(iii) 2ti2l (iv) AR

(A) i, ii, iii B) i, ii, iv
(C) ii, iii, iv (D) i, iii, iv

Al Usl 55 585 oAdlalini [3esell w0el 97
i) uRd-ilsa (i) «B-[ae

(iii) [dvuax-d3s  (iv) AAR-2A9R

(A) i, ii, iii (B) i, ii, iv
(C) ii, iii, iv (D) i, iii, iv
wigl odsellal ot sl 97

(A) Hlawl (B) [sreall
(C) Hells (D) (&l

Mol BUSHYL VILAAL AHSY iR eld Aolidl wdedl 52 sl d |2
Ydd ¥ 253l R oodiddl SHRA-HIZ sdl 08 WU As?

(A) [seal (B) MI=IE

(C) 23 (D) sl2

Ol glad AlMg A AR el o’ - B séaadl i Al wu?
(A) 44 usdl Al 4ef ovdl

(B) ‘vlasd dld 9’-dH sd9

(C) 6llu 5l ol2l Adwl

(D) Uldidl 29 % alsad sl 2 s s oldiag)

A2l Ul s GEleRQL 3us SR, 97

(A) 24 28 2R Houl, ovuy dd HIEl siexl Mol
(B) 5211 Hd 24 g odl oydl ¢l dl?

(€) 2 yHE AUl 2ivil 2 9 - dysidl g ovdl.
(D) UM Ya Wasdl oraion, ol ul ML odH.
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278. ‘WA’ sUl uHIA 87
(A) Wl dcylu (B) sHHIRY
(C) Bedl™I (D) Wiledcyzy

279. sdl Aoe ‘el Al 97
(A) UGl (B) srailoty
(C) udl? (D) [d3on

280. Al Usl sul w0 ‘o’ Al [Restell 97
(A) Gl (B) ydld
(C) us (D) 384

-~

281. Rl sdsellalol oe sul 97
(A) 43 (B) M
(C) »ulqale (D) 2Alalan

282. “‘ordldicdl ¢slsadl MUY v UG A7 HEZ VisAcE sul 97
(A) @ald (B) 9did
(C) ARy, (D) [ddz

283. 584d wid ddl wdedl 59 oad]l 2l «dl?
(A) 2leed Biel Eldel G0 VUL AL SlAl
(B) 521 5501 sl 510 A0Z HA A€l A viRiol oH ]
(C) 42 o4 o2l goll w: sl euidld sn s12q
D) s [Aulovud aazell aQli: Vo o €l dl 4oL 20
oydloll il eal

284, Al wisoy AlUML wis oy uEld wis oy woed]l GuHA wid GuHid dzly
gAlAll AR sdl 2SR od ?
(A) ABDARIUGL (B) »id~qy
(C) 3us (D) Gcusil
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285. MRS Aot wd dedl 2w eulad s odss W 97
(A) eldldi-ursl deyzm (B) [uagl-sHaRY
(C) 21d-HeuHugdlul (D) scuga-olsdlle

286. <llAdmidl 54 GeleRQl [dondla zazwilbd 97

(A) YR (B) uRloy
(C) ¢a« (D) uiig
287. ol [Qad uld azly wmar W2 w gk du s ed?
(vuedl oroul y3I)
(A) »uall (B) ¥l
(C) sual (D) [ewul

288. 04 ¢’ oAy HIZ A U €l dl olns W2 AW w9 97
(A) 2Add-l (B) 212121
(C) [awe (D) [any

289. «AlAdl auuui sa wogiedl oAl Rl «yl?
selldles@ilefdl (s Awilsa & gy ks urna 21 9.
(i) sedidles: (i) s (i) <wlilsa (iv) e (v) Rils
(A) 1, ii, iii (B) 1, iii, iv

(C) ii, iii, iv (D) iii, iv, v

290. 2ydl il wiEdl widolld s Al viwaHi wud 97
(A) asydl (B) wiellist
(C) sedvsl (D) [alast
291, ‘sid wal uedl o SR sadl v aivdl’ - widl w1 eqladl séad
585 97
(A) WA 4 w58l A4 Glefl soR <idl
(B) GAladl il « ulb
(C) *RH Ml o (w2l vl
(D) ™l MPRUGL < 919 9Pl
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292. EUlRAHL ARQL vied 9?
(A) AQL-2AQL aReAl d¥Heedl [Aufa olsavll
(B) 245 Mol U MR gdlddMl 24 9 d
(C) 9%l UISAML 2Uddl ol, AR § UL @1l
(D) “eedl »iou wiudl »ilaw aseiala

293. 59 AQllui ot Acel uHiE] 97
(A) [aeal, [gor, v (B) d2l, diviR, §oR
(C) ar, [Bry, [&@wu (D) azMl, S, ay

294, <dlqAmidl s GeleQl uoadl ARl «#l?
(A) 4la (B) arla
(C) orla (D) wt«l=R

295. &5 oAdldl wogl uRuR (ARl €97
(A) HUeAAlE-2ACYY A (B) ilave-slavs
(C) yalsd-wdid (D) [zeu-2dilss

296. <AlAmidl 59 oasell 2wl 97
(A) z[B1Eu1 B) 3BR1[&u1
(©) 3lBRI{luR (D) R

297. doguys HI2 w5 W zaladl 59 oadl Rl 97
(A) S2RHL el HRAAAR: Q5
(B) GUSRL #Qld « 0AQAR: A
(C) 2567 Hiddl U2 O/<HAl: ACO/HI
(D) aAsledl 2avd Garwell: Asied
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298. 3lauuidl ud dedl wiE galad sy oA R «dl?
(A) ™ sdl: ollqaml Wilel sanqdl
(B) @& dldl q0dl: dledidedl sl
(€) 8 R4 W ord: wMid, Ay
(D) @& agdl: olladi oy w4 org

299. ldqmidl 59 b aql PeHi 97
(A) GO sua sl delu 2aliR g, «dl godl ugl Hed Haawu il @,
(B) [2uid 21144l 5191 gl 2@l d o0 € d o & Yo olid.
(€) R ga [BRsy, vilowi vievie Hiqasle
(D) G2 5¢ 21 uGHL Alsi Yol AN Uil 4 ualsll R 9,

300. [aa¢ »id z@dl 55 oddl Rl «4l?
(A) 2q, + ©d = 2eyd B) g + 24 = [uad
(C) 44 + Blal = «dial (D) »is + 25 = ik
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